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ENGLISH (PART I)
(AC,AZ,CT,EL,PL)

I. Synonyms: 3x1=3
1. Window sill- 2. Return- 3. Relax-

II. Antonyms: 3x1=3
1. Smile x 2.Reward x 3. Pretty x

III. Frame sentence: 2x1=2
1. Reward - 2. Imagine -

IV. Annotation: 4xYo=2

1. “Wake up, dear ! Wake up fast”!

a) Who said this line?

b) To whom was it said?

2. “Thank You, You have been kind to me
I would like to reward You. Ask for wishes
and I will grant them”.

a) Who said this line?

b) To whom was it said?

. Answer in short : (any 3) 3x2=6
. What did Neha wish for?

. What did the Magician reward the fir tree?

. What is a sentence?

. What are verbs?

. What happened to the gold leaves?
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VI. Answer the following: (any 1) 1x3=3
1. What was the reward given by Magician?
(OR)
2. Write a letter of complaint about the theft of
your bicycle.

VII. Choose the correct answer: 2xVe=1

1. Dinah’s family lived in a

a) farm house b) mansion c¢) hut
2. Dinah Brown’s was dangerously ill.
a) Mother b) father c) sister

VIII. Grammar:

1. did you return from school.
(where/when)

2. All children like to play with _____
(toyes/toys)

3. There are many ____ in this part of the
forest. (wolf/wolves)

4. My parents ___ not in town today (are/is)

S. Maria ___ to join the Adventure club
(wants/wanted).

5x1=5
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ENGLISH (PART II)
(AC,AZ,CT,EL,PL)

I. Synonyms: 2x1=2
1. Trimphant - 2. Forever-

II. Antonyms: 2xY%=1
1. Sweet x 2.Ability x

III. Frame sentence: 1x1=1
1. Amazed -

IV. Annotation: 2xY%=1

1. “I looked in the mirror
And looked at my nose
It’s the funniest thing”
a) Who said these lines?
b) What was the funniest thing?

. Answer in short (any 2): 2x1%=3
. Do you think Nasruddin was good at archery?

. What does the earth do when the day is over?

. What are pronouns?

. Write the two types of articles.
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VI. Memory Poem - 8 lines. (3)
Complete the poem “Run”
Away from ......
......................... little breeze.
(Poet name)

VII. Answer in Paragraph (any 1) 1x3=3
1. Write a summary of “The Test”.
(OR)
2. Explain in brief how Nasruddin boasted about his
talent/ ability.

VIII. Literature (MCQ): 2xY%=1

1. Robin hid their nest up among the

a) trees b) bushes c¢) leaves
2. eyed stars will peep and see
a) Dull b) Dark c) Bright
IX. Comprehension: 2x1=2
Read the passage and answer the questions given
below:

Elephant are the largest land animals. They eat only
plants. Even though elephants are very strong, they
are the only mammals that cannot jump.

a) What are the largest land animals?
b) Elephants eatonly __

X. Grammar: 6x'2=3

1. This book is ____ (my/mine)

2. ____ only way to succeed is to work hard (A/The)

3. Our neighbours were waiting for guests
(their/theirs)

4. apple a day keeps doctor away. (An/The)

5. These books are (her/hers)
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(EF,EN,CH,AW)
I. Fill ups: 3x1=3
1. is made up of waste materials
2. helps us in lifting heavy things.
3. Animals give birth to their .
II. True or False: 3x1=3

1. Bullock carts are used in deserts.
2. People can’t walk on bamboo bridge.
3. Fish lay eggs.

III. Match the following: 3x1=3
1. Vallam - Rabbit
2. Fan like ears - Kerala

3. Ear on the top of the head - Elephant

IV. Value Based Points: 3x1=3
1. Both plant and flesh eating animals are called
2. The animals which lay eggs are called

3. Animals that can live both on land and in water are called .

. Answer in short: (Any 4) 4x1Y2=6
. What is known as energy?

. Name any four different types of forces.

. What is moulting?

. What do you mean by predators?

. Write few lines on “Project Tiger”.

. What is fur? Which animal is covered with fur?
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VI. Answer in paragraph: (any 1) 1x3=3

1. Explain the structure of an egg.

2. Expain any three different types of simple machines with
examples.

VII. Diagram: 1x2=2
1. Draw and label the structure of an egg.

VIII. Multiple choice questions: 2x1=2

1. The process of shedding the old skin in insects is called __.

a) melting b) moulting c) reproduction
2. How do whales breathe?
a) Gills b) Lungs c) Heart.

29.08.19 EVERWIN VIDHYASHRAM Marks: 20

STD: IV CRP-1 (AN)
EVS (PART-II)
(EF,EN,CH,AW)
L. Fill ups: 2x1=2
1. Khejadi trees are mainly found in ____ areas.

2. A way built through a mountain is called a .

II. True or False: 2x1=2
1. Honey bees lay eggs from October to December.
2. Madgaon lies in the state of Rajasthan.

III. Match the following: 3x1=3
1. Khejadli people - Kerala

2. Malayalam - nectar collection

3. Worker bee - Bishnois

IV. Value based Questions: 3x1=3
1. We wear woollen clothes in to keep our body
warm.
. We wear clothes according to the ____.
. Never play with and pointed objects such as blades.
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. Answer in short: (any 2) 2x1%=3
. What is First Aid?

. What are Natural fibres?

. What are Synthetic fibres?

. Write two safety rules at school.
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VI. Answer in paragraph: 1x3=3
1. List any four common safety measures.

VII. Diagram: 1x2=2
1. Draw any one source of natural fibre.

VIII. Multiple Choice Questions: 2x1=2
1. Which type of clothes should be ironed properly?
a) cotton b) woolen c) Jute
2. It is always better to walk on the ____.
a) busy road b) footpath c¢) railway track.
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